WHY DID PYTHAGORAS PLANT A FLOWER IN
A CYLINDRICAL POT AND PLACE IT ON THE TOP
SHELF, BUT PUT EMPTY CUBICAL POTS ON A

LOWER SHELF?

Find the quadrant in which the angle is located and then sketch a diagram of the angle.
Then find the required trig values and match with a value below.

—-90° <9 <90° sin(ﬁ)=£ 1) cos(¥) = 2) tan(%) =
3) csc(V) = 4) sec(v) = 5 cot(¥) =
0° < 0 < 180° 6) sin(cl) = Cos(oc)z——g— 7 tan(a) =
8) csc(a) = 9) sec(a) = 10) cot(a) =
90° < 6 < 270° 11) sin(B) = 12) cos(f) = 13) tan(8) =
csc(6) =4 14) sec(B) = 15) cot(6) =
180°<'[3<360O 16) sin(B) = 17) cos(B) = tan(p) =_T55
18) csc(B) = 19) sec(B) = 20) cot(B) =
Values
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